NEATH PORT TALBOT COUNTY BOROUGH COUNCIL COUNCIL

REPORT OF THE DIRECTOR OF FINANCE & CORPORATE SERVICES

28th February 2018

SECTION A - MATTERS FOR DECISION

WARDS AFFECTED: ALL

COUNCIL TAX 2018/19

1 Purpose of Report

1.1 This report sets out the calculations and necessary resolutions to be passed in relation to the budget and the setting of the level of Council Tax for 2018/19 in accordance with the Local Government Finance Act 1992.

2 Issues for Consideration

- 2.1 The responsibilities of the Authority are as follows:
 - To carry out certain calculations in respect of its own budget and Council Tax levels (including Community Council precepts)
 - To add the Council Tax levels specified by the Police and Crime Commission for South Wales to the result of the calculation in above.
- 2.2 Consideration must be given as to the expenses incurred by this Authority in performing, in part of the County Borough, functions performed by Community Councils, elsewhere in the County Borough. It is recommended that such expenses be treated as the Authority's general expenses.
- 2.3 It is also necessary to consider the treatment of the levy issued by the Swansea Bay Port Health Authority. It is recommended that it is treated as the Authority's general expenses.

3 Calculation of the Budget Requirement

3.1 Section 32 of the Local Government Finance Act 1992 requires that, as part of its budgetary process, an Authority must formally calculate its "budget requirement" as follows:-

Aggregate of items under section 32(2)	£426,508,528
i.e. expenditure to be charged to a	
revenue account, including transfers to	
reserves and Community Council	
precepts	
Less	
Aggregate of items under Section 32 (3)	£141,656,851
i.e. income to be credited to a revenue	
account, including transfers from	
reserves, but excluding RSG and NNDR	
Equals	
Budget Requirement per section 32(4)	£284,851,677

4 Calculation of Basic Amount of Council Tax

- 4.1 The Act require the Authority to make the following calculations:
- 4.2 Basic Amount of Council Tax (**inclusive** of Community Council Precepts)

This is calculated in accordance with Section 33(1) of the Act by the following formula

Budget requ	uirement	including	the	£284,851,677
Community Co	uncil Prece	pt		
Less:-				
Total of R	SG and	NNDR,	less	£212,124,377
discretionary ra	ate relief, in	accordance	e with	
Section 33(3B) of the Lo	ocal Govern	nment	
Finance Act 19	92			
Divided by				
Council Tax Ba	ase approve	ed at the Ca	abinet	47,257.40
meeting of 22 I	November 2	2017		
Equals				
Basic Amount	of Counc	il Tax (incl	uding	£1,538.96
Community C	ouncil pred	cepts)		

4.3 Basic amount of Council Tax for areas **without** Community Council Precepts.

This is calculated in accordance with Section 34(2) of the act by the following formula

Basic amount of Council Tax identified in 4.2 above	£1,538.96
Less The aggregate of the community Council precepts	£1,996,677
Divided by Council Tax Base approved at the Cabinet meeting of 22 November 2017	47,257.40
Equals Basic Amount of Council Tax for areas without Community Council precepts	£1,496.71

4.4 Amount of Council Tax for each area with a Community Council Precept.

This is calculated in accordance with Section 34(3) of the Act for each relevant area as follows:

Community Council precept
Divided by
Relevant Council Tax Base as approved at the Cabinet
meeting of 22 November 2017

The calculations for each Community Council are included as Appendix 1. The resulting amounts of basic Council Tax per Band D are as follows:-

Town / Community Council	Band D
	Amount
Blaengwrach	£98.79
Blaenhonddan	£48.16
Briton Ferry	£80.52
Cilybebyll	£48.54
Clyne and Melincourt	£80.45
Coedffranc	£104.84

Crynant	£68.45
Cwmllynfell	£90.87
Dyffryn Clydach	£42.58
Glynneath	£106.13
Gwaun Cae Gurwen	£61.77
Neath	£51.23
Onllwyn	£60.67
Pelenna	£97.09
Pontardawe	£71.39
Resolven	£69.95
Seven Sisters	£76.51
Tonna	£34.82
Ystalyfera	£40.64

4.5 Calculation of Council Tax for Different Valuation Bands

Authorities are required under Section 36(1) to calculate the level of Council Tax for each valuation band in accordance with the following formula.

Amount calculated under section 33 or 34 as
appropriate
Multiplied by
The ratio of the band to Band D

The ratios set out in Section 5(1A) of the Act are as follows:-

Band A	6/9
Band B	7/9
Band C	8/9
Band D	9/9
Band E	11/9
Band F	13/9
Band G	15/9
Band H	18/9
Band I	21/9

A table setting out the levels of Council Tax for each Band in each Community is provided in Appendix 2.

5 Police and Crime Commissioner for South Wales

5.1 The Police and Crime Commissioner for South Wales has issued the following precept:-

Band A	£155.68
Band B	£181.63
Band C	£207.57
Band D	£233.52
Band E	£285.41
Band F	£337.31
Band G	£389.20
Band H	£467.04
Band I	£544.88

The total precept payable is £11,035,609

A table setting out the levels of Council Tax, inclusive of the Police & Crime Commissioner for South Wales precept, for each Band in each community is provided in Appendix 3.

6 Recommendations

It is recommended that Council approve the following:

- a) That any expenses incurred by Neath Port Talbot County Borough Council in performing in part of its area, a function performed by a Community Council, elsewhere in its area, are treated as the Authority's general expenses.
- b) That the levy of the Swansea Bay Port Health Authority is treated as a general expense.
- c) The following amounts are calculated in accordance with Sections 32 to 36 of the Local Government Finance Act 1992.

	Amount
Aggregate of the items estimated under Section 32(2) – expenditure	£426,508,528
Aggregate of the items estimated under section 32(3) – income	£141,656,851
Amount calculated in accordance with section 32(4) – budget requirement	£284,851,677
Aggregate payable in respect of redistributed NNDR and RSG, reduced in accordance with Section 33(3B) of the Act	£212,124,377
Basic amount of Council Tax in accordance with Section 33(1) of the Act	£1,538.96
Aggregate of all special items referred to in section 34(1) of the Act.	£1,996,677
Basic Amount of Council Tax for dwellings in those parts of its area to which no special item relates, in accordance with Section 34(2) of the Act	£1496.71
Basic amounts of Council tax for dwellings in those parts of its area to which special items bands relates, calculated in accordance with section 34(3) of the Act	As per Appendix 1
Amounts to be taken into account in respect of categories of dwellings listed in different valuation, calculated in accordance with Section 36(1) of the Act	As per Appendix 2

d) That the Police and Crime Commissioner for South Wales has stated the following amounts in a precept issued to the Council, in accordance with Section 40 of the Act

Band A	£155.68
Band B	£181.63
Band C	£207.57
Band D	£233.52
Band E	£285.41
Band F	£337.31

Band G	£389.20
Band H	£467.04
Band I	£544.88

The total precept payable is £11,035,609.

e) That having calculated the aggregate in each case above, the Council, in accordance with section 30(2) of the Act hereby sets the amounts shown in Appendix 3 as the Council Tax for 2018/19 for each of the categories of dwelling shown.

7 Reason for Proposed Decision

To fulfil the statutory requirement to determine the Council Tax for 2018/19.

8 Implementation of Decision

The decision is proposed for implementation after consideration and approval by Council.

9 Appendices

Appendix 1 – Basic Amount of Council Tax

Appendix 2 – Amount of Council Tax for Neath Port Talbot CBC plus Community Councils, by band

Appendix 3 – Amount of Council Tax for Neath Port Talbot CBC, plus Community Councils, plus Police, by band

10. Background Papers

Local Government Revenue Support Grant settlement 2018/19. Precept Notices for Mid and West Wales Fire Authority, Police and Crime Commissioner for South Wales, individual Town and Community Councils and Other Precepting Bodies. Neath Port Talbot County Borough Council Budget Report. Cabinet Report of 22 November 2017 - Calculation of Council Tax Base For 2018/19.

11. Wards Affected

ΑII

12	Officer Contact For further information on this report item, please contact:							
	Mr Hywel Jenkins – Director of Finance and Corporate Services ☐ 01639 763251 E-mail: h.jenkins@npt.gov.uk							
	Mr David Rees – Head of Financial Services □ 01639 763634 E-mail: d.rees1@npt.gov.uk							
	Mrs Sue Gorman, Chief Accountant - Financial Services ☐ 01639 763937 E-mail: s.gorman@npt.gov.uk							

Basic Amount of Council Tax (Band D)

Appendix 1

Community Council Precept	Town or Community Council	Community Council Precept	Council Tax Base (Band D)	Community Council Tax	NPTCBC Council Tax	Total
2017/18		2018/19		2018/19	2018/19	2018/19
£35,535.00	Blaengwrach	£35,535.00	359.72	£98.79	£1,496.71	£1,595.50
£220,143.00	Blaenhonddan	£220,143.00	4,571.15	£48.16	£1,496.71	£1,544.87
£140,360.00	Briton Ferry	£147,800.00	1,835.56	£80.52	£1,496.71	£1,577.23
£90,000.00	Cilybebyll	£91,000.00	1,874.83	£48.54	£1,496.71	£1,545.25
£19,903.83	Clyne and Melincourt	£20,600.46	256.06	£80.45	£1,496.71	£1,577.16
£362,222.00	Coedffranc	£372,202.00	3,550.35	£104.84	£1,496.71	£1,601.55
£44,500.00	Crynant	£45,835.00	669.59	£68.45	£1,496.71	£1,565.16
£34,000.00	Cwmllynfell	£34,000.00	374.15	£90.87	£1,496.71	£1,587.58
£44,354.00	Dyffryn Clydach	£46,584.00	1,093.98	£42.58	£1,496.71	£1,539.29
£134,649.37	Glynneath	£144,748.07	1,363.88	£106.13	£1,496.71	£1,602.84
£72,400.00	Gwauncaegurwen	£81,155.00	1,313.89	£61.77	£1,496.71	£1,558.48
£330,000.00	Neath	£330,000.00	6,442.13	£51.23	£1,496.71	£1,547.94
£21,441.00	Onllwyn	£22,083.00	363.97	£60.67	£1,496.71	£1,557.38
£38,416.00	Pelenna	£38,416.00	395.67	£97.09	£1,496.71	£1,593.80
£167,500.00	Pontardawe	£176,000.00	2,465.45	£71.39	£1,496.71	£1,568.10
£47,561.00	Resolven	£50,375.00	720.11	£69.95	£1,496.71	£1,566.66
£47,450.00	Seven Sisters	£47,450.00	620.15	£76.51	£1,496.71	£1,573.22
£27,000.00	Tonna	£29,000.00	832.78	£34.82	£1,496.71	£1,531.53
£63,750.00	Ystalyfera	£63,750.00	1,568.49	£40.64	£1,496.71	£1,537.35
£1,941,185.20	Total	£1,996,676.53	30,671.91			

Appendix 2

Basic amount of Council Tax - NPT plus Community Council 2018/19

Community	Band A	Band B	Band C	Band D	Band E	Band F	Band G	Band H	Band I
BLAENGWRACH	£1,063.67	£1,240.95	£1,418.22	£1,595.50	£1,950.05	£2,304.61	£2,659.17	£3,191.00	£3,722.83
BLAENHONDDAN	£1,029.92	£1,201.57	£1,373.22	£1,544.87	£1,888.17	£2,231.47	£2,574.79	£3,089.74	£3,604.69
BRITON FERRY	£1,051.49	£1,226.74	£1,401.98	£1,577.23	£1,927.72	£2,278.22	£2,628.72	£3,154.46	£3,680.20
CILYBEBYLL	£1,030.17	£1,201.86	£1,373.56	£1,545.25	£1,888.64	£2,232.02	£2,575.42	£3,090.50	£3,605.58
CLYNE AND MELINCOURT	£1,051.44	£1,226.68	£1,401.92	£1,577.16	£1,927.64	£2,278.12	£2,628.60	£3,154.32	£3,680.04
COEDFFRANC	£1,067.70	£1,245.65	£1,423.60	£1,601.55	£1,957.45	£2,313.35	£2,669.25	£3,203.10	£3,736.95
CRYNANT	£1,043.44	£1,217.35	£1,391.25	£1,565.16	£1,912.97	£2,260.78	£2,608.60	£3,130.32	£3,652.04
CWMLLYNFELL	£1,058.39	£1,234.79	£1,411.18	£1,587.58	£1,940.37	£2,293.17	£2,645.97	£3,175.16	£3,704.35
DYFFRYN CLYDACH	£1,026.20	£1,197.23	£1,368.26	£1,539.29	£1,881.35	£2,223.41	£2,565.49	£3,078.58	£3,591.67
GLYNNEATH	£1,068.56	£1,246.66	£1,424.75	£1,602.84	£1,959.02	£2,315.21	£2,671.40	£3,205.68	£3,739.96
GWAUN CAE GURWEN	£1,038.99	£1,212.15	£1,385.32	£1,558.48	£1,904.81	£2,251.13	£2,597.47	£3,116.96	£3,636.45
NEATH	£1,031.96	£1,203.96	£1,375.95	£1,547.94	£1,891.92	£2,235.91	£2,579.90	£3,095.88	£3,611.86
ONLLWYN	£1,038.26	£1,211.30	£1,384.34	£1,557.38	£1,903.46	£2,249.54	£2,595.64	£3,114.76	£3,633.88
PELENNA	£1,062.54	£1,239.62	£1,416.71	£1,593.80	£1,947.98	£2,302.15	£2,656.34	£3,187.60	£3,718.86
PONTARDAWE	£1,045.40	£1,219.64	£1,393.87	£1,568.10	£1,916.56	£2,265.03	£2,613.50	£3,136.20	£3,658.90
RESOLVEN	£1,044.44	£1,218.52	£1,392.59	£1,566.66	£1,914.80	£2,262.95	£2,611.10	£3,133.32	£3,655.54
SEVEN SISTERS	£1,048.82	£1,223.62	£1,398.42	£1,573.22	£1,922.82	£2,272.42	£2,622.04	£3,146.44	£3,670.84
TONNA	£1,021.02	£1,191.19	£1,361.36	£1,531.53	£1,871.87	£2,212.21	£2,552.55	£3,063.06	£3,573.57
YSTALYFERA	£1,024.90	£1,195.72	£1,366.53	£1,537.35	£1,878.98	£2,220.61	£2,562.25	£3,074.70	£3,587.15
ALL OTHER	£997.81	£1,164.11	£1,330.41	£1,496.71	£1,829.31	£2,161.91	£2,494.52	£2,993.42	£3,492.32

Appendix 3

Basic amount of Council Tax - NPT plus Community Council plus Police 2018/19

Community	Band A	Band B	Band C	Band D	Band E	Band F	Band G	Band H	Band I
BLAENGWRACH	£1,219.35	£1,422.58	£1,625.79	£1,829.02	£2,235.46	£2,641.92	£3,048.37	£3,658.04	£4,267.71
BLAENHONDDAN	£1,185.60	£1,383.20	£1,580.79	£1,778.39	£2,173.58	£2,568.78	£2,963.99	£3,556.78	£4,149.57
BRITON FERRY	£1,207.17	£1,408.37	£1,609.55	£1,810.75	£2,213.13	£2,615.53	£3,017.92	£3,621.50	£4,225.08
CILYBEBYLL	£1,185.85	£1,383.49	£1,581.13	£1,778.77	£2,174.05	£2,569.33	£2,964.62	£3,557.54	£4,150.46
CLYNE AND MELINCOURT	£1,207.12	£1,408.31	£1,609.49	£1,810.68	£2,213.05	£2,615.43	£3,017.80	£3,621.36	£4,224.92
COEDFFRANC	£1,223.38	£1,427.28	£1,631.17	£1,835.07	£2,242.86	£2,650.66	£3,058.45	£3,670.14	£4,281.83
CRYNANT	£1,199.12	£1,398.98	£1,598.82	£1,798.68	£2,198.38	£2,598.09	£2,997.80	£3,597.36	£4,196.92
CWMLLYNFELL	£1,214.07	£1,416.42	£1,618.75	£1,821.10	£2,225.78	£2,630.48	£3,035.17	£3,642.20	£4,249.23
DYFFRYN CLYDACH	£1,181.88	£1,378.86	£1,575.83	£1,772.81	£2,166.76	£2,560.72	£2,954.69	£3,545.62	£4,136.55
GLYNNEATH	£1,224.24	£1,428.29	£1,632.32	£1,836.36	£2,244.43	£2,652.52	£3,060.60	£3,672.72	£4,284.84
GWAUN CAE GURWEN	£1,194.67	£1,393.78	£1,592.89	£1,792.00	£2,190.22	£2,588.44	£2,986.67	£3,584.00	£4,181.33
NEATH	£1,187.64	£1,385.59	£1,583.52	£1,781.46	£2,177.33	£2,573.22	£2,969.10	£3,562.92	£4,156.74
ONLLWYN	£1,193.94	£1,392.93	£1,591.91	£1,790.90	£2,188.87	£2,586.85	£2,984.84	£3,581.80	£4,178.76
PELENNA	£1,218.22	£1,421.25	£1,624.28	£1,827.32	£2,233.39	£2,639.46	£3,045.54	£3,654.64	£4,263.74
PONTARDAWE	£1,201.08	£1,401.27	£1,601.44	£1,801.62	£2,201.97	£2,602.34	£3,002.70	£3,603.24	£4,203.78
RESOLVEN	£1,200.12	£1,400.15	£1,600.16	£1,800.18	£2,200.21	£2,600.26	£3,000.30	£3,600.36	£4,200.42
SEVEN SISTERS	£1,204.50	£1,405.25	£1,605.99	£1,806.74	£2,208.23	£2,609.73	£3,011.24	£3,613.48	£4,215.72
TONNA	£1,176.70	£1,372.82	£1,568.93	£1,765.05	£2,157.28	£2,549.52	£2,941.75	£3,530.10	£4,118.45
YSTALYFERA	£1,180.58	£1,377.35	£1,574.10	£1,770.87	£2,164.39	£2,557.92	£2,951.45	£3,541.74	£4,132.03
All OTHER	£1,153.49	£1,345.74	£1,537.98	£1,730.23	£2,114.72	£2,499.22	£2,883.72	£3,460.46	£4,037.20